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Q8

Read the text below and then answer the questions that follow.

Two researchers obtained a sample of ten people whose ages ranged from 20-years-old to
60-years-old. Each participant was asked to take part in a discussion of social care issues. This included
discussion about who should pay for social care for elderly people and how to deal with people struggling with mental health problems. A confederate of the researchers was given a script to follow in which a series of discussion points was written for the confederate to introduce. Each participant then came into a room individually and the discussion with the confederate took place. The maximum time allowed for a discussion was 30 minutes. The researchers observed the discussions between the confederate and participants and rated the active engagement of the participants in the discussion. The ratings were between 1, (not at all interested) and 20, (extremely interested.) The researchers believed that the rating provided a measurement of the participants’ attitudes towards social care issues. The following data were obtained in the study:

The relationship between age and attitude to social care. 
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Sign test question

Q1. 
A researcher wanted to see whether cognitive behaviour therapy was an effective treatment for depression. Twenty depressed patients who had all recently completed a course of cognitive behaviour therapy were involved in the investigation. From their employment records, the researcher kept a record of the number of absences from work each patient had in the year following their treatment. This was compared with the number of absences from work each patient had in the year prior to their treatment.
Those patients who had fewer absences from work in the year following their treatment than in the year prior to their treatment were classified as ‘improved’ (+). Those patients who had more absences were classified as ‘deteriorated’ (-). Those patients who had the same number of absences were classified as ‘neither’ (0).
The results of the investigation are included in Table below.
 
	 
	Patient
	Improved
	Deteriorated
	Neither

	 
	1
	+
	 
	 

	 
	2
	 
	 
	0

	 
	3
	 
	–
	 

	 
	4
	+
	 
	 

	 
	5
	+
	 
	 

	 
	6
	+
	 
	 

	 
	7
	 
	–
	 

	 
	8
	 
	–
	 

	 
	9
	 
	 
	0

	 
	10
	+
	 
	 

	 
	11
	 
	–
	 

	 
	12
	+
	 
	 

	 
	13
	+
	 
	 

	 
	14
	+
	 
	 

	 
	15
	+
	 
	 

	 
	16
	 
	–
	 

	 
	17
	+
	 
	 

	 
	18
	+
	 
	 

	 
	19
	+
	 
	 

	 
	20
	 
	 
	0


 


 (4)

(b)     Calculate the sign test value of s for the data in Table 1. Explain how you reached your answer.
______________________________________________________________
______________________________________________________________
______________________________________________________________
______________________________________________________________
______________________________________________________________
______________________________________________________________
(2)
Table 2: Critical values for the sign test

	 
	n
	0.005 (one
tailed)
0.01 (two
tailed)
	0.01 (one
tailed)
0.02 (two
tailed)
	0.025 (one
tailed)
0.05 (two
tailed)
	0.05 (one
tailed)
0.10 (two
tailed)

	 
	16
	2
	2
	3
	4

	 
	17
	2
	3
	4
	4

	 
	18
	3
	3
	4
	5



For significance, the value of the less frequent sign is equal to, or less than, the value of the table.

(c)     With reference to the critical values in Table 2, explain whether or not the value of s that you calculated in response to question (b) is significant at the 0.05 level for a two tailed test.
______________________________________________________________
______________________________________________________________
______________________________________________________________
______________________________________________________________
(2)
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Q1
(b)     AO2 = 2
1 mark for identifying the correct value of s as 5
[bookmark: _GoBack]Plus
1 mark for explanation/calculation of how this was arrived at:
•        The most commonly occurring sign is + (12) and the least frequently occurring sign is – (5). The 0s are disregarded.
•        The total for the least frequently occurring sign is the value of s = 5



(c)     AO2 = 2
1 mark for stating that the value of s (5) is not significant at the 0.05 level.
Plus
1 mark for explanation:
•        The critical value is 4. As the calculated value is higher than/exceeds the critical value, the result is significant not at the 0.05 level.
Accept alternative wording
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(a) Use the graph paper below to sketch a display of the data given in the table above. You do
ot need to give your dispiay a fte.
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(6) What does the display you have drawn in your answer n part () suggest about the
relatonship between age and atitude to social care ssues? Explain your answer.
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@ A03=2

0 marks for a directional hypothess.
1 mark if not operationalised, eg *Age affects memory.” “There will be a difference between
the two conitions.”

2 marks for eq “There will be a difference in how many numbers are correctly recalled by
children and adults* “Children and adults have different short-term memory spans.” Or
“The capacity of short-term memory s different for adults and children.

Candidates may write a hypothesis where the IV is how many numbers are in the list and
the DV is the number of participants who can recall that digit span.

Eg As numbers in the fistincrease, recall changes. 1 mark.

AS the number of random numbers in the st increases, the number of participants recalling
the list corecty, changes. 2 marks.
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A03=2

‘The experiment uses adults in one condiion and children in the other so it would be
impossible to use a repeated design unless the researchers waited for the chidren to grow
into adult.

Given the nature of this experiment, demand characteristics and order effects are
inappropriate.

1 mark for a brief explanation. A further mark for elaboration. Eg Can compare the two
different groups to see who is better. 0 marks (because this relates to all experimental
designs).

‘They needed to have different people in each condition. 1 mark.

‘They needed to have different people in each condition based on age. 2 marks.

‘They needed to have children in one group and adults in the other. 2 marks.

A03=2

Children &
Aduts 7
1 mark for each correct answer.

A03=3

‘The frequency distribution shows that there is a difference in results between the two age.
groups.

‘Aduls recalled more digits than children. However, the difference is small and some
children recalled more digits than some adults. Candidates might refer to the modal scores
being different while the range is the same.

Any credit-worthy material should be credited.

1 mark for a very brief answer eq identfying there is a difference between aduts and
children and / or adults score more than children. Further marks for more detail as above.
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(e)  Frequency distribution of the maximum number of digits
correctly recalled by children and adults.
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A researcher carried out an experiment to investigate how many numbers could be held in
short-term memory. The participants were 15 chidren and 15 adults. Participants were asked o
repeatlists of random numbers, in the correct order, as s00n s they were read out by the
researcher. For example, when the researcher said, *3, 4, 2, 8" the participant immediately
repeated 3, 4, 2, 8". When the researcher then said. 7, 5. 9, 6, 4° the participant immediately
repeated 7, 5, 9, 6, 4”. One number was added to the st each time until particpants were
unable to recall the lst correctly Each participant's maximum digit span was recorded.

(a)  Wiite an appropriate non-directional hypothesis for this experiment.

@

(b)  Explain why the researcher used an independent groups design for this
experiment

@
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What does the frequency distribution show about e results?
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